
EElO Midterm Exam Fall2016 

Total of 3 questions, 100 minutes. 

1. In the following circuit, the transformer is ideal. Find the current i (30 points). 
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2. Find the current i in the circuit below by a) node analysis, b) superposition ( 40 
points). 
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3. In the circuit below, inductor L1 has an initial current of /0 and the circuit has been 

idle for a long time. The switch is closed at t = 0. Plot and fmd the resistor voltage. 
What is the final current of the inductors at t = oo ( 40 points). 
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